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Have a go at questions 
1 - 4 on the worksheet



Ron and Whitney each draw a line.

My line is one fifth of 
a metre long.

My line is 180 mm 
long.

What is the difference in length of the lines?
Give your answer in centimetres.

1 m = 100 cm

Have a think



W

1
5 of 100 cm = 20 cm

R

180 mm = 18 cm

What is the difference in length of the lines?
Give your answer in centimetres.

20 cm − 18 cm = 2 cm

My line is one fifth of 
a metre long.

My line is 180 mm 
long.



Have a go at questions 
5 - 10 on the worksheet


